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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

Define: Roving

Define: Yarn

Give physical properties of cotton fibres.
Give chemical properties of polyester fibres.
What is ginning process?

Define: Denier.

Give the name of material fed and delivered at card and speed frame.
Define: English count.

State the objects of ring frame.

State the objects of sizing process.

Draw a neat sketch of knife roller ginning machine.
OR
Give the objects and explain principle of ginning machine.
Draw the flow chart of spinning process.
OR
Give the objects of spinning process.
Draw neat sketch of carding machine and name its parts.
OR
Draw neat sketch of the passage of material through draw frame.
Find out the tex count of yarn which has 800 m length and 12 g weight.
OR
Find out English count (Ne) of yarn which has 840 yards length and 350 grains
weight.

Draw the flow chart of modern weaving process.

OR
Draw the passage of material through winding machine.
Define: 1. Warp, 2. Weft and 3. Weaving
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OR
Draw neat sketches: 1. Shuttle, 2. Reed and 3. Heald shaft.
Draw the passage of material on weaving machine.
OR
Draw the passage of material through sizing machine with neat sketch.
Draw neat sketches of different packages used in the industry.
OR
Draw the passage of material through warping machine.

State the objects of hopper bale opener. Which form of material is fed in
hopper bale opener?
OR
State the objects of scutcher. Which form of material is delivered from
scutcher?
Explain in brief manufacturing process for silk.
OR
Explain in brief manufacturing process for wool.
Give the classification of textile fibres.

Find the weight of yarn in grains if the yarn length is 840 yards and count is
10s Ne.

Give the longitudinal and cross-sectional views of acrylic and silk.

Give the chemical test for Silk and Polyester.

Explain burning test for Wool and Nylon.
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